Distance Costs Decibels
The general formula for the number of decibels corresponding to a change in sound intensity to 
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relative to the former intensity is 
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Part A
Suppose that a sound has initial intensity [image: image8.png]B



measured in decibels. This sound now increases in intensity by a factor [image: image9.png]


. What is the new level of sound [image: image10.png]


?

Express your answer in terms of [image: image11.png]B



and the factor [image: image12.png]


, using [image: image13.png]log(z)



for the log base 10.
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Part B
Find the change in intensity [image: image16.png]Aj



of a point source of sound that results from moving the listener initially at a distance [image: image17.png]d,



to a distance [image: image18.png]dy



from the source  

  .

Express the change in intensity in terms of [image: image20.png]d,



and [image: image21.png]dy



, using [image: image22.png]log(z)



for the logarithm of [image: image23.png]


base 10.
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Part C
This part will be visible after you complete previous item(s).

Will send after part a & b are done
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